
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 
 

1 

H10-2* 
Honda CBR600RR 2003-2006 

 
Kit for the left side Kit for the right side 

          No. Description Cat.no. Pcs 

 

No. Description Cat.no. Pcs 

 1 Steel box M12 X2 1 
 

1 Steel box M12 X2 1 

 2 Bolt M12x120x1,25mm 913 1 
 

2 Bolt M12x110x1,25mm 910 1 

 3 Dural. cylinder d=38mm 98 1 
 

3 Dural. cylinder d=34mm 99 1 

 
          

Installation: 
 

*You will have to drill the hole in the cowl during installation. It is therefore necessary 

intervention in the original cowl! 

 
1. Measure and make hole into the fairing. 

2. Installation of the left and right protector make in gripping about the attached photo . 

3. Give the steel box M12 ID.1  into the protectors.  

4. Put the duralumin spacer ID.3 lenght 38mm  left side under the crash protector and 

insert bolt M12x120 into the protector and spacer- left side.  

5. For right side use bolt M12x110 and spacer length 34mm. 

6. These kits fitting into the chassi. 

 
Warning – we recommend to use safety glue on threads of all bolts 

(moderate strong – blue colour). 
 

 

 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 
 

2 

 
 

 

 

 
 

 


